

ITEM

ITB NAME: DECALS FOR COUNTY VEHICLES (Annual Contract with 2 Options to Renew)

DEKALB COUNTY PURCHASING & CONTRACTING BID TABULATION

PROCUREMENT AGENT: TONEYA B. DAWSON BID OPENING DATE: February 1, 2023 | 3:00 PM PRICE OPENING DATE: April 12, 2023 | 3:00 PM

Company Name: AKO Signs, Inc.

POLICE SERVICES PRICE SCHEDULE						
	Estimated Number of	UNIT	UNIT PRICE			

NO.	COMMODITIES OR SERVICES	Estimated Number of Units.	UNIT	UNIT PRICE	EXTENDED TOTAL
1.	Police Department: Installation of decals on entire vehicle to include but not limited to roof, sides and rear of vehicle for Police Services in accordance with the minimum specifications for (Chevrolet Caprice). Item on page 23-24. On page 24, an example of Shield Logo (Chevrolet Caprice) decal.	300	Each	\$695	\$208,500
2.	Police Department: Installation of decals on entire vehicle to include but not limited to roof, sides and rear of vehicle for Police Services in accordance with the minimum specifications for (Ford Crown Victoria). Item on page 24-27.	25	Each	\$105	\$2,625
3.	Police Department: Installation of decals on entire vehicle to include but not limited to roof, sides and rear of vehicle for Police Services in accordance with the minimum specifications for (Chevrolet Tahoe K-9). Item on page 31.	300	Each	\$105	\$31,500
4.	Police Department: Installation of decals on entire vehicle to include but not limited to roof, sides and rear of vehicle for Police Services in accordance with the minimum specifications for (Chevrolet Tahoe Special Operations SWAT). Item on page 31.	50	Each	\$105	\$5,250
5.	Police Department: Installation of decals on entire motorcycle to include but not limited to sides, front and rear of motorcycle for Police Services in accordance with the minimum specifications. Item on page 32-33.	25	Each	\$145	\$3,625
6.	Police Department: Installation of decals on the following criteria: (Chevrolet Tahoe K-9): Front Right Fender	15	Each	\$1	\$15
7.	Police Department: Installation of decals on the following criteria: (Chevrolet Tahoe K-9): Front Left Fender	15	Each	\$1	\$15
8.	Police Department: Installation of decal based on the following criteria: (Chevrolet Tahoe K-9): Front Right Door	15	Each	\$55	\$825
9.	Police Department: Installation of decal based on the following criteria: (Chevrolet Tahoe K-9): Front Left Door	15	Each	\$55	\$825



ITB NAME: DECALS FOR COUNTY VEHICLES (Annual Contract with 2 Options to Renew)

DEKALB COUNTY PURCHASING & CONTRACTING BID TABULATION

ITEM					
NO.	COMMODITIES OR SERVICES	Estimated Number of Units.	UNIT	UNIT PRICE	EXTENDED TOTAL
10.	Police Department:				
	Installation of decal based on the following criteria:	15	Each	\$55	\$825
11	(Chevrolet Tahoe K-9): Rear Right Door				
11.	Police Department: Installation of decal based on the following criteria:	15	Each	\$55	\$825
	(Chevrolet Tahoe K-9): Rear Left Door	13	Each	\$33	\$623
12.	Police Department:				
	Installation of decal based on the following criteria:	15	Each	\$1	\$15
	(Chevrolet Tahoe K-9): Rear Right Quarter Panel				
13.	Police Department:				
	Installation of decal based on the following criteria:	15	Each	\$1	\$15
	(Chevrolet Tahoe K-9): Rear left Quarter Panel				
14.	Police Department: Installation of decal based on the following criteria:	1.5	T1.	955	#02 <i>5</i>
	(Chevrolet Tahoe K-9): Trunk	15	Each	\$55	\$825
15.	Police Department:				
101	Installation of decal based on the following criteria:	15	Each	\$1	\$15
	(Chevrolet Tahoe K-9): Bumper				·
16.	Police Department:				
	Installation of decals on the following criteria: (Chevrolet Tahoe Special OPS/SWAT): Front Right Fender	15	Each	\$1	\$15
17.	Police Department:				
	Installation of decals on the following criteria: (Chevrolet Tahoe Special OPS /SWAT): Front Left Fender	15	Each	\$1	\$15
18.	Police Department:				
	Installation of decal based on the following criteria:	15	Each	\$55	\$825
	(Chevrolet Tahoe Special OPS /SWAT): Front Right Door				
19.	Police Department:			0.5.5	#0 2.
	Installation of decal based on the following criteria: (Chevrolet Tahoe Special OPS /SWAT): Front Left Door	15	Each	\$55	\$825
20.	Police Department:				
20.	Installation of decal based on the following criteria:	15	Each	\$55	\$825
	(Chevrolet Tahoe Special OPS/SWAT): Rear Right Door	13	Lucii	Ψ23	ψ023
21.	Police Department:				
	Installation of decal based on the following criteria:	15	Each	\$55	\$825
	(Chevrolet Tahoe Special OPS /SWAT): Rear Left Door				
22.	Police Department:				
	Installation of decal based on the following criteria:	15	Each	\$1	\$15
	(Chevrolet Tahoe Special OPS /SWAT): Rear Right Quarter Panel				



ITB NAME: DECALS FOR COUNTY VEHICLES (Annual Contract with 2 Options to Renew)

DEKALB COUNTY PURCHASING & CONTRACTING BID TABULATION

ITEM NO.	COMMODITIES OR SERVICES	Estimated Number of Units.	UNIT	UNIT PRICE	EXTENDED TOTAL
23.	Police Department: Installation of decal based on the following criteria: (Chevrolet Tahoe Special OPS /SWAT): Rear left Quarter Panel	15	Each	\$1	\$15
24.	Police Department: Installation of decal based on the following criteria: (Chevrolet Tahoe Special OPS /SWAT): Trunk	25	Each	\$55	\$1,375
25.	Police Department: Installation of decal based on the following criteria: (Chevrolet Tahoe Special OPS /SWAT): Bumper	15	Each	\$1	\$15
26.	Police Department: Installation of decal based on the following criteria: (Ford Crown Victoria): Front Right Fender	15	Each	\$55	\$825
27.	Police Department: Installation of decal based on the following criteria: (Ford Crown Victoria): Front Left Fender	15	Each	\$55	\$825
28.	Police Department: Installation of decal based on the following criteria: (Ford Crown Victoria): Front Right Door	25	Each	\$55	\$1,375
29.	Police Department: Installation of decal based on the following criteria: (Ford Crown Victoria): Front Left Door	15	Each	\$55	\$825
30.	Police Department: Installation of decal based on the following criteria: (Ford Crown Victoria): Rear Right Door	15	Each	\$55	\$825
31.	Police Department: Installation of decal based on the following criteria: (Ford Crown Victoria): Rear Left Door	15	Each	\$55	\$825
32.	Police Department: Installation of decal based on the following criteria: (Ford Crown Victoria): Rear Right Quarter Panel	15	Each	\$55	\$825
33.	Police Department: Installation of decal based on the following criteria: (Ford Crown Victoria): Rear left Quarter Panel	15	Each	\$55	\$825
34.	Police Department: Installation of decal based on the following criteria: (Ford Crown Victoria): Trunk	15	Each	\$55	\$825
35.	Police Department: Installation of decal based on the following criteria: (Ford Crown Victoria): Bumper	15	Each	\$1	\$15



ITB NAME: DECALS FOR COUNTY VEHICLES (Annual Contract with 2 Options to Renew)

DEKALB COUNTY PURCHASING & CONTRACTING BID TABULATION

NO.	COMMODITIES OR SERVICES	Estimated Number of Units.	UNIT	UNIT PRICE	EXTENDED TOTAL
36.	Police Department: Installation of decal based on the following criteria: (Chevrolet Caprice): Front Right Fender	80	Each	\$105	\$8,400
37.	Police Department: Installation of decal based on the following criteria: (Chevrolet Caprice): Front Left Fender	80	Each	\$105	\$8,400
38.	Police Department: Installation of decal based on the following criteria: (Chevrolet Caprice): Front Right Door	80	Each	\$105	\$8,400
39.	Police Department: Installation of decal based on the following criteria: (Chevrolet Caprice): Front Left Door	80	Each	\$105	\$8,400
40.	Police Department: Installation of decal based on the following criteria: (Chevrolet Caprice): Rear Right Door	80	Each	\$105	\$8,400
41.	Police Department: Installation of decal based on the following criteria: (Chevrolet Caprice): Rear Left Door	80	Each	\$105	\$8,400
42.	Police Department: Installation of decal based on the following criteria: (Chevrolet Caprice): Rear Right Quarter Panel	80	Each	\$105	\$8,400
43.	Police Department: Installation of decal based on the following criteria: (Chevrolet Caprice): Rear left Quarter Panel	80	Each	\$105	\$8,400
44.	Police Department: Installation of decal based on the following criteria: (Chevrolet Caprice): Trunk	80	Each	\$70	\$5,600
45.	Police Department: Installation of decal based on the following criteria: (Chevrolet Caprice): Bumper	80	Each	\$35	\$2,800
46.	Police Department: DeKalb Police Motorcycle: Installation of decal based on the following criteria: Windshield	20	Each	\$35	\$700
47.	Police Department: DeKalb Police Motorcycle: Installation of decal based on the following criteria: Right Gas Tank	10	Each	\$15	\$150
48.	Police Department: DeKalb Police Motorcycle: Installation of decal based on the following criteria: Left Gas Tank	10	Each	\$15	\$150



ITB NAME: DECALS FOR COUNTY VEHICLES (Annual Contract with 2 Options to Renew)

DEKALB COUNTY PURCHASING & CONTRACTING BID TABULATION

ITEM NO.	COMMODITIES OR SERVICES	Estimated Number of Units.	UNIT	UNIT PRICE	EXTENDED TOTAL
49.	Police Department: DeKalb Police Motorcycle: Installation of decal based on the following criteria: Right Saddlebag	10	Each	\$35	\$350
50.	Police Department: DeKalb Police Motorcycle: Installation of decal based on the following criteria: Left Saddlebag	10	Each	\$35	\$350
51.	Police Department: DeKalb Police Motorcycle: Installation of decal based on the following criteria: Rear Right Quarter Panel	10	Each	\$1	\$10
52.	Police Department: DeKalb Police Motorcycle: Installation of decal based on the following criteria: Rear Left Quarter Panel	10	Each	\$1	\$10
53.	Police Department: DeKalb Police Motorcycle: Installation of decal based on the following criteria: Top Box	20	Each	\$35	\$700
54.	Police Department: DeKalb Police Motorcycle: Installation of decal based on the following criteria: Front Fairing	20	Each	\$35	\$700
55.	Total (Police):	-		\$347,160	
	ANIMAL CONTROL PRICE SCHED	ULE			
56.	DeKalb Animal Control: Installation of decals on entire vehicle to include but not limited to sides and rear of Animal Control Units in accordance with the minimum Specifications. Item on page 28-30. On page 28, an example of Animal Control Shield logo decal.	20	Each	\$275	\$5,500
57.	DeKalb Animal Control: Installation of decal based on the following criteria: Front Right Fender or Left Fender	15	Each	\$35	\$525
58.	DeKalb Animal Control: Installation of decal based on the following criteria: Rear Right Door or Left Door	15	Each	\$35	\$525
59.	DeKalb Animal Control: Installation of decal based on the following criteria: Rear Right or Left Quarter Panel	15	Each	\$35	\$525



ITB NAME: DECALS FOR COUNTY VEHICLES (Annual Contract with 2 Options to Renew)

DEKALB COUNTY PURCHASING & CONTRACTING BID TABULATION

ITEM NO.	COMMODITIES OR SERVICES	Estimated Number of Units.	UNIT	UNIT PRICE	EXTENDED TOTAL
60.	DeKalb Animal Control: Installation of decal based on the following criteria: Trunk or Bumper	15	Each	\$35	\$525
Total	(Animal Control):			\$7,600	
	FLEET MANAGEMENT PRICE SCHE	DULE			
61.	Fleet Management: DeKalb County logo, black, vinyl, die cut 13 ¼" X 13 ¼" with quarter inch margin. Please follow example on page 34.	300	Each	\$7	\$2,100
62.	Fleet Management: Roads & Drainage decal, black, vinyl, die cut ¼" margins with 1 ½" letter height. Use upperand lower-case letters. Please follow example on page 32.	90	Each	\$6	\$540
63.	Fleet Management: Facilities Management decal, black, vinyl, die cut '4" margins with 1 ½" letter height. Use upper- and lower-case letters. Please follow example on page 34.	30	Each	\$7	\$210
64.	Fleet Management: Code Enforcement decal, black, vinyl, die cut ¼" margins with 1 ½" letter height- Use upper- and lower-case letters. Please follow example on page 34.	30	Each	\$6	\$180
65.	Fleet Management: Diesel Fuel decal, black, vinyl, die cut ¼" margins with 1 ½" letter height. Use upper- and lower-case letters.	50	Each	\$4	\$200
66.	Fleet Management: Airport decal, black, vinyl, die cut ¼" margins with 1 ½" letter height. Use upper- and lower- case letters.	36	Each	\$3	\$108
67.	Fleet Management: Purchasing and Contracting decal, black, vinyl, die cut ¼" margins with 1 ½" letter height. Use upper- and lower-case letters.	30	Each	\$8	\$240
68.	Fleet Management: Human Development decal, black, vinyl, die cut 1/4" margins with 1 1/2" letter height. Use upper- and lower-case letters.	60	Each	\$6	\$360
69.	Fleet Management: Public Works Department decal, black, vinyl, die cut 1/4" margins with 1 1/2" letter height- Use upper- and lower-case letters. Please follow example on page 34.	160	Each	\$7	\$1,120
70.	Fleet Management: Gasoline decal, black, vinyl, die cut ¼" margins with 1 ½" letter height. Use upper- and lower- case letters.	40	Each	\$3	\$120
71.	Fleet Management: Sanitation decal, black, vinyl, die cut ¼" margins with 1 ½" letter height. Use upper- and lower-case letters. Please follow example on page 34.	200	Each	\$4	\$800



ITB NAME: DECALS FOR COUNTY VEHICLES (Annual Contract with 2 Options to Renew)

DEKALB COUNTY PURCHASING & CONTRACTING BID TABULATION

ITEM NO.	COMMODITIES OR SERVICES	Estimated Number of Units.	UNIT	UNIT PRICE	EXTENDED TOTAL
72.	Fleet Management: DeKalb County decal, black, vinyl, die cut ¼" margins with 1 ½" letter height. Use upper- and lower-case letters. Please follow example on page 34.	200	Each	\$4	\$800
73.	Fleet Management: Fleet Management decal, black, vinyl, die cut ¼" margins with 1 ½" letter height. Use upper- and lower-case letters. Please follow example on page 34.	60	Each	\$6	\$360
74.	Fleet Management: Recreation, Park, and Cultural Affairs decal, black, vinyl, die cut ¼" margins with 1 ½" letter height. Use upperand lower-case letters.	140	Each	\$11	\$1,540
75.	Fleet Management: Revenue & License decal, black, vinyl, die cut 1/4" margins with 1 ½" letter height. Use upper- and lower-case letters. Please follow example on page 34.	140	Each	\$6	\$840
76.	Fleet Management: Traffic & Engineering decal, black, vinyl, die cut. 1/4" margins with 1 1/2" letter height. Use upper- and lower-case letters. Please follow example on page 34.	80	Each	\$7	\$560
77.	Fleet Management: Risk Management decal, black, vinyl, die cut ¼" margins with 1 ½" letter height. Use upperand lower-case letters. Please follow example on page 34.	10	Each	\$6	\$60
78.	Fleet Management: For Official Use Only decal, black vinyl, die cut. 1/4" margins with 1 1/2" letter height. Use upper- and lower-case letters. Please follow example on page 34.	220	Each	\$7	\$1,540
79.	Fleet Management: Watershed Management decal, black, vinyl, die cut ¼" margins with 1 ½" letter height. Use upper- and lower-case letters. Please follow example on page 34.	200	Each	\$7	\$1,400
80.	Fleet Management: Tax Commissioner decal, black, vinyl, die cut ¼" margins with 1 ½" letter height. Use upper- and lower-case letters. Please follow example on page 34.	10	Each	\$6	\$60
81.	Fleet Management: Voter Registration and Elections decal, black, vinyl, die cut ¼" margins with 1 ½" letter height. Use upper- and lower-case letters. Please follow example on page 34.	10	Each	\$7	\$70
82.	Fleet Management: Workforce Development decal, black, vinyl, die cut 1/4" margins with 1 1/2" letter height. Use upper- and lower-case letters. Please follow example on page 34.	10	Each	\$7	\$70



ITB NAME: DECALS FOR COUNTY VEHICLES (Annual Contract with 2 Options to Renew)

DEKALB COUNTY PURCHASING & CONTRACTING BID TABULATION

ITEM NO.	COMMODITIES OR SERVICES	Estimated Number of Units.	UNIT	UNIT PRICE	EXTENDED TOTAL
83.	Fleet Management: Transportation decal, black, vinyl, die cut ¼" margins with 1 ½" letter height. Use upper- and lower-case letters. Please follow example on page 34.	30	Each	\$6	\$180
84.	Fleet Management: Numbers 0-9 three-inch decal, black, vinyl, die cut ¼" borders. Must have notch for alignment. Please follow example on page 34.	400	Each	\$4	\$1,600
85.	Fleet Management: Numbers 0-9 One-and-a-half-inch decal, black, vinyl, die cut ¼" borders. Must have notch for alignment.	400	Each	\$7	\$2,800
86.	Fleet Management: CNG Decals Letter Size for Small version 11.50" x 13.00" die cut. Example of decal on page 35. Please follow example on page 35.	20	Each	\$9	\$180
87.	Fleet Management: CNG Decals Letter Size (DeKalb Fuels Logo) for large version 14" x 14" – 22"x 8" die cut wording / 8"x 6" die cut CNG Logo.	20	Each	\$9	\$180
Total	Total (Fleet Management)			\$18,218	•
	FIRE RESCUE PRICE SCHEDULE	E			
88.	Fire Rescue Services: Installation of decals on entire vehicle for Fire Rescue Services in accordance with the minimum specifications for. (Chevrolet Silverado 3500) Rapid Response Vehicle "Squad"	5	Each	\$1,350	\$6,750
89.	Fire Rescue Services: Installation of decals on entire vehicle to include but not limited to roof, sides and rear of vehicle for Police Services in accordance with the minimum specifications for (Chevrolet Silverado 3500) Battalion Vehicle	7	Each	\$1,350	\$9,450
90.	Fire Rescue Services: Replacement of decals in the event of a vehicle accident or other damage to the fire apparatus. (All Fire Rescue Apparatus) Doors, Windows, Quarter Panels, Fenders, ETC.	10	Each	\$200	\$2,000
91.	Fire Rescue Services: Decals for non-emergency vehicles, Decal will include new Department Patch Decal. And "Non-Emergency Vehicle".	5	Each	\$75	\$375
Total	(Fire Rescue)			\$18,575	



ITB NAME: DECALS FOR COUNTY VEHICLES (Annual Contract with 2 Options to Renew)

DEKALB COUNTY PURCHASING & CONTRACTING BID TABULATION

PROCUREMENT AGENT: TONEYA B. DAWSON BID OPENING DATE: February 1, 2023 | 3:00 PM PRICE OPENING DATE: April 12, 2023 | 3:00 PM

Number of Bids Received: 3	
LSBE Benchmark/GFE: Yes, GFE was met.	
Attendance at the Mandatory LSBE Meeting: Yes	
Separate Sealed Price Schedule: Yes	

Recommend award to the lowest, responsive, and responsible bidder:

AKO Signs, Inc., 1625 Oconee Street, Athens, GA 30605

Notes:

- ComfiArt deemed non-responsive for failing to meet the LSBE/GFE requirements.
- Fru-Art Company Inc. deemed non-responsive for failing to meet the LSBE/GFE requirements.

AGENT SIGNATURE: Tonsya B. Dawson

WITNESS SIGNATURE: Monique McCrear